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QUESTION 1

Internet of vehicles (IOV), requires coordination of network intelligence from vehicle-mounted information service to
intelligent transportation. 

A. True . 

B. False 

Correct Answer: A 

 

QUESTION 2

In eMBB application scenarios, 5G significantly improved user experience for mobile broadband servies? _TF 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

Using a 5G-based transmission line inspection drone can extend the inspection range to several kilometers away. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

Which of the following organization defines 5G standards? 

A. 3GPP 

B. 3GPP2 

C. OTSA 

D. JEE 

Correct Answer: A 

 

QUESTION 5
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Which of the following smart healthcare applications projects is dependent on 5G networks? -SC 

A. Remote surgery through a robot 

B. Medical care monitoring 

C. Patient Locating 

D. Infusion monitoring 

Correct Answer: A 

 

QUESTION 6

Which of the following is the main advantage of the using massive MIMO over traditional MIMO? SC 

A. Multiplexing gain 

B. Single-channel array gain 

C. 3d beamforming gain 

D. Diversity gain 

Correct Answer: C 

 

QUESTION 7

which of the following chips is the world\\'s first commercial single -chip multi-mode (2g/3g/4g/5g)5g modem? _SC 

A. Balog 5000 

B. 5X50/X55 

C. CXMM-8160 

D. Exynos 5510 

Correct Answer: A 

 

QUESTION 8

Which of the following are pain points relating to PC gaming experience? _MC 

A. High software price 

B. Piracy 

C. No anywhere anytime access 

D. Low hardware investment 
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Correct Answer: ABC 

 

QUESTION 9

Which one of the following serves the main application service for 5G in early deployment phase in european union and
the united states? 

A. internet of vehicle (IoV) 

B. cloud VR 

C. FWA (home broadband access) . 

D. smart manufacturing 

Correct Answer: D 

 

QUESTION 10

Which one of the following serves the main application service for 5G in early deployment phase in European union and
the united states? 

A. internet of vehicle (IoV) 

B. cloud VR 

C. FWA (home broadband access) . 

D. smart manufacturing 

Correct Answer: C 

 

QUESTION 11

Which of the following is the terms refers to the base station in the radio network access in 5G? _SC 

A. NodeB 

B. eNodeB 

C. BTS 

D. gNodeB 

Correct Answer: D 

 

QUESTION 12

Which of the following is minimum latency requirement of 1080p cloud games? 
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A. 100 ms 

B. 1 s 

C. 1ms 

D. 10ms 

Correct Answer: A 

 

QUESTION 13

Which of the following is not an advantage of a thin client in the cloud x se rvice? 

A. low cost 

B. mobile 

C. efficient storage 

D. easy deployment and management 

Correct Answer: C 

 

QUESTION 14

Which of following V2X service statements is incorrect? 

A. centralized deployment ... 

B. third-party algorithm deployment framework 

C. centimeter level positioning 

D. capable of evolution to cooperative automated driving 

Correct Answer: A 

 

QUESTION 15

Which following 5G scenario specification is predominately completed in the 3GPP R15 version? 

A. mMTC 

B. uRLLC 

C. eMBB . 

D. MBB 

Correct Answer: C 
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